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If o3 are roots of equation 7x*> —3x + 2 = 0 then find the value of m + 1 ﬂz
D 22 3 2 »n 2
M) 5, @5 35 “@ 3

If G,b,¢ are three vectors such that | g |= 2, b =4,|¢|=4, b¢ =0,b.Gi =¢.a then find the value of |a +b-¢ |

e @) Je 37 4 26

Ifthe line x + 2y = 3 cuts a chord of length r unit with the circle x> + y* = r? then find r>.

12 5 12
) — 2 = 4) =
M @ N2 ON.. @5
Find the coefficient of x4 in the expansion of (1+ x + x>+ x*)°
(1) 100 (2) 110 (3) 120 (4) 125

If the mean and standard deviation of 5, 3, 7, a, b are 5 and 2 respectively, then a and b are roots of equation.

(1) x>*—10x+18=0 2)x>-20x+18=0 (B)x>-20x+19=0 4)x*—10x+19=0

There are three section A, B, C in a paper each section having 5 questions. In how many ways a student can solve
exactly 5 questions taken atleast one question from each section.

(1) 2200 (2) 2225 (3) 2250 (4) 2275
30
AE
{T—] simplifies to
(1)—2%i (2) 21 (3) 2% 4) 2"

a
Ifthe lines x — y = a and x+y = b are tangents for y =x> = 3x + 2 then P

AT+ x* —1 L 2xv1+ X dy,
and Y, =tan | =—————

Lety =tan’' [ 2

1— 2.2 then E =

V1-x° NS 1 1
M) 2(1+x%) ) 4(1+x%) 3) (1+x*)W1-x * 401+ xP)W1=x1
If a G.P. sum of 2", 3" and 4" term is 3 and that of 6", 7" and 8" term is 243 then S, =

3% 41 50 50 49
() 26 @ 3 3 26 ) 2%

cos 6
— 40 j
'[7+sin9-2<:0520 is equal to
2 tan_,[ZSin0+lj 2 tan“[4sm9+lj+C

SN N @ 9 55

4sm6+1J+C 251n0+1j+c

4 4 4 4
3) Etan [W 4) Etan (T
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12.

13.

14.
15.

16.

17.

The area enclosed by [x].(x —1) <y < 2,/x from x =0 to 2 where [x] is the greatest integer less than or equal to x.

is equal to
82 1 82 82 1 8 1
I S 05 W3

X a+y a+x

Ifx+a=y+b+1=z+cthenthevalueofy L I is
z ¢c+y c+z

(D y(a-b) 2)y(b-0 ) y(c-a) 40

If 10g7% x+log7é x+ 10g7% X420 4 es = 460 then x = ?

A function f: A— Bwhere A={a, b, c}, B={l, 2, 3, 4}. How many function can be defind from A to B wheich are
not one-one such that 2 € f(A)
Ifthe system of equations x+ y+ z=0, x + 3y +k*z=0 and x + 2y + z= 0 have a non zero solution then the value

X,
of y+—is

z
(H1 (2)0 (3 -1 2

2 2

Ify =mx + C is a common tangent of circle x> + y? = 3 and hyperbola 1 1000 1 then which of the following
statement is true :
(1)8m=4 (2) 61C> =492 (3) 4C2 =369 (4)8m+5=0
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